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Solve by Graphing

System of equation

Name___________________________________

Date________________
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Solve each system by graphing.
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3)  y = -2x - 3
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5)  y = -
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9)  0 = 1 - 
1
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10)  0 = 3y - x + 6
0 = -3y - x + 12
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11)  -y = 4x + 1
0 = -2y - 16 - x
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12)  -4y = -7x - 20
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13)  2x - 7y = -42
2x - 7y = 56
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14)  2x - 3y = 3
x + 9y = -72
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15)  13x + 9y = -63
2x + 9y = 36
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16)  x + y = -5
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Solve by Graphing

System of equation
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Solve each system by graphing.

1)  y = 2x + 4
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5)  y = -
3

2
x - 2

y = -
1

2
x + 2

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5

(-4, 4)

(-4, 4)

6)  y = 
5

4
x - 3

y = 2

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5

(4, 2)
(4, 2)

7)  y = -
2

3
x - 2

y = -
8

3
x + 4

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5

(3, -4)

(3, -4)

8)  y = 
1

2
x + 3

y = 4x - 4

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-5

-4

-3

-2

-1

1

2

3

4

5

(2, 4)
(2, 4)



©R A2I0g1D7` HKluhtLaY BSFo[fttxwOacr`ed uLpLUCr.t z vAmlOlf urPimgkhVt]sR Trke\s\eprDvPeqdp.c R dMoaHdye[ iwXiztthV MIKnnfbiLnkiKtReB XPzrYeF-`AFlTgIeXbYrJaU.

Worksheet by Kuta Software LLC

-3-

9)  0 = 1 - 
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x - 

1

3
y

-4y - 4 + 3x = 0

x

y

-10 -8 -6 -4 -2 2 4 6 8 10

-10

-8

-6

-4

-2

2

4

6

8

10

(4, 2)
(4, 2)

10)  0 = 3y - x + 6
0 = -3y - x + 12
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13)  2x - 7y = -42
2x - 7y = 56
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14)  2x - 3y = 3
x + 9y = -72

x

y

-10 -8 -6 -4 -2 2 4 6 8 10

-10

-8

-6

-4

-2

2

4

6

8

10

(-9, -7)
(-9, -7)

15)  13x + 9y = -63
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